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TE 09(Motor Vehicle Mechanic): Series — C

Question Answer Options

U aEG & T T GeIHA & eI A. Toear¥oT §q HaTacceleration duc to
THT g & , ' gravity
Ratio of weight to mass of an object equals B. #eear /density

C. 1

_ D. fafafise aae /Specific weight

FETAEISA R & gl AT, Beafat@d | A, ﬁsﬂﬂﬁiﬁﬁ? Trer wigEreinforcement
T 39T fvar ST & steel chords
In making automobile Tires , following is | B. 88 /Rubber
used C. gdia MNylon

D. 39Qad Tl FAT

: All the above materials
U 9 F 35 H | T A & R s | AL wed weer v

gl 38F 9U @ ygAfRT frar ST a vertical straight line

T B | B. WEITe®F fparabolic
A parcel is dropped from a flying aero plane. | C. Fram@R [eircular
Its path can be approximated as D. T3 ST /zigzag
fETATAfeTR 3aIa tan(45) ﬂym g A. 172
Value of trigonometric ratio tan (45_) equals g (1)
D. 1/4
1000 5.7, gofelarer U &R A1 1#/aFs & | A. 100056 /1000Toules
ol @1 ¢ & afdes Fer & B. 5003fer /500Toules.
Kinetic energy of car mass of 1000 kg | C. 1siier /1Joule
moving at I m/sec is D. ufr wés #F 1000 fFah. #1000 kg m
~ persec
SIS U G @ ARud FE @ ww emar ¥ | A 9.81m/32 :
T 3 e 2| B. 10m/s
. . . C. 9 m/s
When a ball is dropped from a certain height D.1 m/s?
its acceleration will be equal fo : '
o TG TR T @, 1000 FrAl aonT & | A. 250 Rrar /Kg
W$4WWT€'M@WW$§TO{ B. 1000 fs.3r. /Kg
g § C. 500 f&am. /Kg
sum total of vertical Reaction Forces at 4 { D. 10 fr.ar. Kg

tyres of a car standing on flat road weighing
1000 kg is
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TE 09(Motor Vehicle Mechanic): Series — C

S;)- Question Answer Options
AT aeed F v ROG GO F IR AT | A, HET AU § YW THAS T Fofl AT
2l power transfer from main shaft to rear
A differential assembly in a motor vehicle axle _
allows B. SR @ gAY g & fAfRes rpm @ ¥
g &ar ¥l
2 allows different rpm of feft and right
' wheels
C. Y T ST W TqH rpm F E
e &l
allows equal rpm of left and right wheels
D. Iwied Tl & g &ar ¢
allows all of the above
a7 wE eifeas dlec @ darg & WA ST § | AL 3O eI AT giar &
dr diEe e & 38N its diameter increases
If a metallic Bolt is pulled in tension then | B. 3HE A HH BT &
9 according to Poisson effect its Diameter decreases
' C. =urg # g gRade 7al
no change in diameter
D. $& Sarr A& ST Feher
unpredictable
TETFT & T R @, o F Sear & Tur| A. %A &ar § /Reduces
3 g ¥ B. s&ar § /ncreases
10. At lower gears of the gearbox, Torque | C. §¢elid =Tl / Remains same
increases and speed D. o gt e &
The two are not related
IR & FOT @weT JUT Ftd e & @ & A e [Caster
HOT A FEd Bl B. &rafi{er /Steering angle
1L Angle between steering axis and the vertical | C. 2T 3 /Toe in
axis of the wheel is called D. 27 35T /Toe out
ST UF 0.5 HieY dars & e 80 fZE wor | AW
# wfta g & swh Aw e w0 2T
" q&ﬁw#mél D'.n/6

When a 0.5 meter long wiper sweeps an
angle of 60 degrees The tip moves circularly
by adistanceof ...... meter
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TE 09(Motor Vehicle Mechanic): Series — C

' I?fo Question Answer Options
4-FIF S H FA MU JI, FHHATFE I | A. g /double
* gl B. 3mer /Half
13. In a 4 —stroke IC engine cam shaft speed is | C. ey &r iﬁm
...... the crankshaft speed can be any multiple
D. §AT fequal
TFHIEC # FTH Flad A F O # 38| A. AT SU evar
gl ‘ Low fuel efficiency
A high Carbon Monoxide content in the | B. TosTeg wadiee
14. exhaust means ' Toxic exhaust
C. 3/HYUT &gl
Incomplete combustion
D. 3R el / all of the above
vE 9F Y5 Reed T F gimmar 05] A 25N
NBeties 31 o dsr ser sfuatt, & e | O ON
15. FeeT 31 5@ gl D. =F [Zero
A brake pedal return spring has a stiffhess of '
0.5 N/millimeter. If the pedal press is 5 mm
then the force in the spring will be
foege gehg dea & # 3w fRAr | AL IC ot % weRed #
Srar §1 ' starter of 1C engine
6. Principle of electro magnetism is employed B. yHfeee /thermostat
m - | C. AFeX /muffler
D. 3¢ qRad®
‘ catalytic converter
TFHEC GUICl H oENOT AT TR SR | A, UFHEE & CO B FH aar & ;
IETds ' reduces CO content of exhaust k
A catalytic converter fitted to exhaust system | B. X @I %ol &l §
17 reduces noise _
C. B Tl i GURAT Eimproves fuel
efficiency
D. 3Wed d FS 7ar
none of the above
ICEateT &l TOd AqelT A. 1 IMH T8 H&R
Connecting rod of an IC engine has I or H section shape
8 B. Z@vsg /7 section

C. 3¥d=R /frectangular
D. gedm@R feircular
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TE 09(Motor Vehicle Mechanic): Series —C

Q. . .
No. Question | Answer Options
e & Ew s @ fE & Rwe &) A 0.112,0.017
; B. 0.118,0.020
3RTER A9 T IR JAT >
& e 81 ¢ ST C 0110, 0,015
(FFRr) B D. 0.119,0.020
External diameters of a pin are measured as
shown in Figure. The ovality and Taper are
...... (respectively) :
19. £ 2 ﬂ‘
B1
=100.008
B2 =100.100
B3 =
y Y . 100.118
AI=100.116  A2<100.101  A3=100.115
g5+ %7 BHP @f & @fag T smar | AL @ 3T /Torque wrench
20 gl ' - B. sEAEARET /Dynamometer
' BHP of an engine is measured by C. er#Re /Tachometer
D. 3ftE#ex /Odometer
ToTeet g3d _ % v JEeer &l A. g R 0T T e e e A
Piston heads are dome shaped HEE Hla
To help proper mixing of air fule
mixture
21. B. 3cUigel I TXeT Jeflel
Ease of manufacturing
C. qe=T /Balancing
D. wFwe d, F JokT
to increase crankshaft speed
glest (RE___ & A9l & gfae g1 A. 3mglea /Frequency
- Hertz ( symbol Hz) is unit for measuring B. 97 /Speed
' ' C. a9 /Acceleration
D. #Hesl /Retardation
R & feem F dvew & dry I WU FE | AL I @ 3Gt AGT RAT S HhdT
* Bu Gears can be not used
To transmit power between shafts in the same | B. sef¢ g gfed FT IO HAT S FHA &
2 direction Belt & pulley can be used

C. AT EIhe 1 ITAWT AT ST §
Chain sprocket can be used
D. 3R @l @8t g

All of the above are correct statements
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TE 09(Motor Vehicle Mechanic): Series — C

I%). Question Answer Options
IC 91T A, fwed &1 &% o 3ied a9 | A, Rees # adhoar 3ade a9
& AHF B Average force pushing the Piston
24 Area of pi.ston multiplied by mean pressure in | B e ﬂﬁﬁﬂ [Avearge stress
' an IC engine equals C. 39 @& /Average torque
D. wHidmare HRpm |
Rpm of crankshaft
U 3 woleor e ST B A, T w91 /Spark plug
Fuel is atomized in B. wamdRex /Evaporator
25. C. ATl /Muffler
D. ga1%eX / Injector
gve AW @wm gd.eEw ¥ | A 005
et R Db
26. ' Shaft Diais 50 +0.050/0.035 and Hole| 1 o005
diameter is 50 +0.050/+0.045.
The maximum clearance is
RN TR, T & w0l g & A. 9AREY felastic
Tyre Rubber is much more ....than Steel B. d=g /ductile
27. C. ¥eraaed /malleable
‘ D. 3f9% 9de /stronger
T TEvr # 4 F fov o9 gfded s | AL IR w3 W $ g
I Wref@d ey @ar § g9 sdftew Slope of the initial straight line
ASIOT - H GERT E B. sifasr afdher ufaaer
28. When stress is plotted versus strain for a metal Final breaking stress
in tension test, Elastic modulus equals the C. 3ifd# diear dret
Final breaking strain
D. sféher wfdiael & a1 & 3fqarT
Ratio of breaking stress to strain
fafeisy iy #1_ & F=ar wm@ g A. FIEE dgT ar gRfege Py
Cylinder head is made of Cast Tron or Aluminum Alloy
29. B. dmEr /copper
C. dige /Brass
‘ D. T /Bronze
HIISTh ATClR & ST IR A. o9 Aol AUt oigr a1 oAt
Connecting rod is made of High grade Alloy Steel or Aluminum
30. B. @& giar /Cast iron
C. %" /Bronze
D. a@rgersT /Nylon
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[ '35,

No. Question Answer Options
S Us U] & e PG S § RS || AL GARCT AT GEHiEd A gl
AT I1 ol (deTY)_ Does not stretch or contract
31. When a sheet of metal is bent, the middle | B. ST & /Contracts
plane or line (neutral) C. 9arar /Stretches
o D. e &l JarT S FFaUnpredictable
FO F FNOT alees @i A FAf¥ee & Qe | A, FEsier @i /Spring washer
g1 anrl & yaer Far sar § B. #=F 917 /standard washer
32. To prevent loosening in a bolted joint due to | C. T9R3 /Tapered
vibration......... washers are used D. ¥ /Thick
HYUT T Fod H_ H IYART FRAT ST | A, TR I IRT died
& : Constant mesh gear box
Friction cone clutch is used in B. f®&#Aer /Synchromesh
33. C. TH-ogeT FIE aiag
In-line sliding gear box
D. 390Fd H &g =60
None of the above
VVT U F fov gftaw feAr| A, Bhp
Ty B. gue & uselicy #Km
34 VVT is introduced to improve Km per liter of fuel
' C. 3IcHSA FH FAT §
reduce emissions
D. FRiwd G4 /all of the above
vhe A 599 & AT raw 3raaa=80 cc | A. 80+ 90
o Bl IEAE=10 cc IFH  TUEA 2 ;8 jggoo
3 & D. 90+ 10
For a single cylinder engine swept volume=80
cc and clearance volume =10 cc. Then its
compression ratio is
ABS #1¥ & fou & A9 Y 3ETHAT | A, TF YUl /Wheel rotation
gl B. 2% [Torque
36. ABS function requires measurement of C. a9 /Temperature
D. #& /Camber
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I?I;) Question Answer Options
A e, oe & AT sl @ g9 e ¥ A H
I H TR @ 3cie BT g _ BV
For the shaft shown which force produces C. VaHzm fboth V and H
torque about the cente . D. 2=t & 77gf MNeither
V, Vertical
force
37.
. H, Horizontal
" force
N w O BT ww &R # go @ | A O o, akex o, sifter oY, T
AREET & v @y fer diedg & YA, Ford TEerdel, §F
The correct checking sequence for Fan belt, water leak, oil leak, tire
overheating of an engine in a car when pressure, clutch slippage, brakes
reported to garage is B. 5= &1 fufa, ofigem o, S
P
Engine condition, coolant quality, self
38. starter, gear box oil
C. S+ & HYAT 9, TR Fr fTufy,
Compression pressure of the engine, tire
condition, fuel quality, suspension,
D. et dc, dicx o, S, geamafds
Fan belt, water leak, battery, Alternator.
éﬁléRcméﬁa?a@T%a’rwqmw A-26H§2/360
e g g &1 e R & golw | B 2 7 360 i*
. ° C. emr</360
30, FRoT fdselies W For W v & D. 2ol
There are two wipers of length R em which do |
not overlap. The total surface area on the
windshield due to rotation of Theta degrees is
ICSSTeT # Selole ared & A5el, f@dld aled & | A. oer /Smaller
e q B. 37 /Bigger
40. In an IC engine Size of an inlet wvalve | C. @& /ldentical
18.ievinn, compared to exhaust valve D. IR & WE T

None of the above
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ST;). Question Answer Options
ICiam & Rflst g8 &7 _ & fow fem | A, 3or {07 §a8 &7 92
39y ToRAT IR B Increasing heat transfer surface area
Cylinder head of an IC engine is provided | B. 3cdiae I 3T Fefet

AL with fins for ease of manufacturing

: C. e /fashion
D. 3Idel gl
increasing volume
e 20 F A F UR B A F wE grl Aoa 2
U ged 1 0T afy fr oRr ¥ A geq wr | D @
, C. 2a
4. | FEmE D. a
' A circle is drawn touching four corners of a
square of side ‘2a’, then the radius of the
circle is
y=x% & gdewor A. g /Circle
y =x? is equation of B. O3 {@r /Straight line
43. C. Sreer /Parabola
D, aﬁa‘:}'—({mﬁ /Ellipse
FR IT A T G qU A § W TH | A, Th & fis same
@ R forgsfl W W § 99 T €, o @ | B. 9T & gof Bier grem|
FyIFGEF gl ' pull is smaller than push
The effect of force, F, on a car when you push | C. &/ & 2T @ier g
" from 1?ack or pl:ﬂl from front at points on a push is sma‘ﬂer than pull
same line (see Figure) - D. % war 7él @wdUnpredictable
PUSH, PULL, F
T O |
T SRS e & o wEae & QR F| A Xy =0

45. AR — ‘2' )}S:B;r
Equation to intersection of a cylinder with a D: .
plane perpendicular to its longitudinal axis is
8RSl | Jed IR & 3o B A. 39 =TT W 4 T
Ratio of Area to Circumnference of a circle is . 4 times its Diameter

B. =

46. C. =g F U T T

one fourth of Diameter
D. sar&@ /Diameter
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No Question Answer Options
§8 9 ged & WX YN YUddd F HN | A duarfew /Parabolic
AT gl | B. g /square

47. Shape of reflectors around head lamp bulb is | C. @@= /eylindrical
generally D. 3@ /conical
SIeT ol I H Iqterfesar T gl A. AY IR T
Dog clutch is used in Constant mesh gear box

48 B. [@®m#er /Synchromesh

' C. 3ial= Differential
D. 3RFT H Fg A&
~ None of the above.
RGN ga g g A gar ¥ | A S5 @swer MDiesel cycle
_Combustion occurs at constant pressure B, 3ffer @gsa /Otto cycle
49, Moo C. S ofr yferaAAF Wshd
Any thermodynamic cycle
D. 3Wad & Hlg Tal
* None of the above.
(Thdl & WA 3aeT & ary) BHP § A. 2rNT/4500
(With usual notation of symbols) BHP equals B. aNT /4500
50 , C. 2aN/4500
' D. 2xT/4500
(Hehdl o AT 3T F @) IHP § | A. PnLAN K/4500
(With usual notation of symbols) IHP equals B. LAN K /4500
S1. | | | C. PLLN K /4500
D. Py LA K /4500
0.001 =r 0.00001 & foonfolg &=T ¥ A. 1000000
¥ ' B. 1
52, . C. 100
0.001 divided by 0.00001 equals ......
D. 10
_ —btvb?—dac frorer A ax?+bx+c=0
*= 2a ._‘"éﬁa' T &l B. ax3® +b% =¢?
33, C. a®+b?=xc?
D.

—b+vhZ—4ac
2a

X = are the two real rootsof ........

a? + xh? = xc?
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Question

~Answer Options

54.

FUf 2By WAAd: gole & gET w
ST &

The stepney tyre generally goes to the place
of..... during rotation

R o frear left

e oo Hront left

we ST /front right

Y USC TET frear right tyre

Do wp

55.

frrafaf@s e 31 1000 fFar. % w a1
W, 5@ F a0 g oA R ¥ wy @
gt e & fowe fohar amm g1 feea
8T Al =A T A2=5A ¥ U%her @99 &
ITHR, HR A HYURX &7 & v e fOwed
U HETF T &

Refer sketch below. A car of weight 1000 kg
is lifted in a hydraulic lift with two cylinders
filled with a fluid. The piston areas are Al =A
and A2=5A. By Pascal’s law, the force
required at the smaller piston . to support the
car is

200kg
1000 kg
5000 kg
5kg

=Ro¥c S

Weight = 1000 kg !

Area A2 =35A

Area
Al=A ----F

36.

gifser  Rfsar g

Honing is a process of

A. HET [Cutting

B. afssar /Welding

C. ffsser /Milling

D. 17 f=R /Bore finishing

37,

T Sod H Haoe U3 Jur Owed &
d &7 39T T ST g

In an engine......... is used between
Connecting rod and Piston.

A. sfeaE = /Gudgeon pin
B. e U= /king pin

C. ®iw e /Crank pin

D. @y & MNormal pin

58.

LAMBDA dHde, MPFI womelt & &0
TR #r & ‘
LAMBDA sensor detécts...... in MPFI
system.

A.NOx
B. O,

C. Petrol
D.CO
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Answer Options

No. Question
a1 wldeaer <87 #T Siis & T 399 & 9% | A, @raf¥e |7 /Universal joint
IR B. el WY /Knuckle joint
59. To connect  two intersecting shafts the Joint | C. eg-wrs @R /Tie -rod joint |
used is. ... D. e T /Ball Joint
Ford [TEYT A9 FOT PRI ¥ OF Fow | A Fefeea §5id 9
Eerdsr, 9w ®9 & geehr & - At starting engine
Clutch slippage while clutch is engaged is | B. 519 Ha9re 98el i 9g fowar arr /
When accelerator pedal is pressed

60.

particularly noticeable

sfher & &
During braking
®H A9 H /At low speed
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